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= RUCTURE AND BASIC IDEA OF (SOM)

Self organizing Map (SOM) neurons execute both
competitive and cooperative processes:

Competitive Process: The neuron whose weight vector
comes closest to the input vector (i.e. IS most similar to
it) is declared the winner.

Cooperative Process: When one neuron fires, its
closest neighbours tend to get excited more than those
further away. There is a topological neighbourhood that
decays with distance.
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2w ARNING ALGORITHM  Training Stages in Details
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To make the problem very simple. suppose that there are only two
neurons in the output layer as shown below:
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2= claar all -

3= load iri= data=eSp

il = X = irisInputar

5 b Create a Self-Qrganizing Map
&= diml = &7

I|
7= dim? = 5; Q '
& — nat = selforgmap | dim2])

5 % Train the Hotwork

16 = [net,tr] = traln{net,x);:

11 % Teat the Network

iz - y = nat(xhs

13 % View the Network

14 = view (nath:

15 % Different Plot: -

Comimand Wesdos &
x 4x150 4800 double 3

XX 150%4 4800 double
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